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| i Marks :70
Time Allotted ! 3 Hours o

The Figures in the margin indicale full marks.

Candidale are required lo give their answors in their own words a5 far as practicable

Group-A (Very Short Answer Type Question)

1x10=10
1. Answer any ten of the lollowing : " |

A syslemis in lhe sale state il

h A process is in a “Blocked" state walling for some IO service. When the service is compleled, it goes to the __
- The number of processes compleled per unit ime is known as
V) Which module gives control of the CPU lo the process selected by the shor-term scheduler?

¥ Concurren! access to shared data may resullin

Wb For non sharable resources like a printer, mulual exclusion

Vil . isthe concepl in which a process is copied inlo the main memory from the secondary memory according (o the
raquirement,

Vi When a page fault occurs 7
(%) What is the main disadvanlage ol spinlocks?

X} In segmeniation, each address is specifiedby __. . _ -
(X4 The relocalion register helps in
(X Al unsafe stalesare __ ... . .

Group-B (Short Answer Type Question)

Answer any three of the foflowing [5x3=15]
2. Explain SMP. , (51
{a)What is virual memory? 15]
{b)What is thrashing?
What is the difference between logical address space and physical address space? (5]
Discuss about spooling. (5]
Differentiate between paging and segmentalion. (5]
Group-C (Long Answer Type Queslion)
Answer any three of ihe lollowing [15x3=45]
L)
7. (a) Discuss about diflerent types of schedulers. 17]
{b) Draw and describe the structure of PCB. [8]
8. (a) Whatis demand paging? Explain pure demand paging? (5]
{b) Consider the following relerence slring: 0,2,1,6,4,0,1,0,3,1,2,1 and frame no is 4. Find oul the total no. of [10]
page fault by applying the following page replacement algorilhm: FIFO, Optimal & LRU.
9. (a) Whatis mutual exclusion' prablem concerning to concurrent process ? Explain with example. 15])
{b) Describe critical section problem (5]
{c} State ihe producer-Consumer problem. (5]

10. (a) Write shon notes on the following : Digital signature

15]

{b) Thrashing .
(c) Page replacement algorithm, o

11, (a) What do you mean by race condition? .
(b) Explainin detail the operalions of semaphore. "

(c) Explain the classical problems of synchronizatlon. o
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